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Hong Kong Attainment Test
BEEEN AR

Pre-Secondary 1 Mathematics
h— AZBRIEHER

Mock Paper 2 #EERE (Z)

N Answer Sheet ZE#K
2 0
ORr
Name
£ (English) (F20)
Class Class No.
BERl PESR
Total Marks
e
You only need to write down the letter preceding
(60 marks)  the selected answer. (2 marks each)
(GDEB (e09) manAMFESRANEYTE . (5H25) &
1. B 6.| B 11.| B 16.| C 21.| B 26.| B
2.| B 7.1 A 12.| A 17.| C 22.| D 27.| C
3.| B 8. A 13.| C 18. ] A 23.| C 28.| B
4.| D 9. B 14.| D 19.| D 24.| C 29.1 D
5.| D 10.| B 15.| B 20.| D 25.1 C 30.| C
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Working steps must be shown in answering questions
(40 marks) i this section unless specified otherwise.
MDER (105) BassERN  EREABEES A5 HHESE -

{é} Marks

Teacher’s use only

HHAER

b )
31 (a).
A
A A bottle of honey costs
—REENEELS (2y+6) °
2
31 (b).
A
3y = 39 3y = 39
y = 13 y =13
Tiffany has $13. s F $13
4
32 (a).
A
The total weight is (Give your answer with a unit)
*E 2.42 kg o (AE/AF LR
2
32 (b).
A
1.14 = (1.64 — 1.14) 1.14 —(1.64 — 1.14)
— 228 =228
The remaining beefis 2.28 times of ~ #% F #92F A2 A 4 B 69 2.28 4% o
the used beef.
4
33 (a).
It was on Wednesday
. ERZ o
2
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33 (b).

34 (a).

34 (b).

Q

35 (a).

Q

'A‘ Marks
B s

The sales amount was AHAE 58 T
2500 X (15+8+ 18+ 13 +8) 2500 X (15+8+ 18+ 13+ 8)
= $155 000 = $155 000

Because 155 000 < 160 000, the sales amount of the air-conditioners of
H 2 brand B in the past five days was less than $160 000.
155000 < 160 000 * Ff WA B % A Mk 7238 & £ K 694515 4
Y 7% $160 000 o

* Yes /(No) - (* Circle the answer)

* R ED (r BREE)

Teacher’s use only

HHAER

or SW
Travelling in the south-west  direction from the cinema, it

reached the school. 5 sw
MEHRE _ Oh  FATE o BlEER

Then travelling in the south-east  dijrection, it reached the MTR

. or SE
station.
e Ry T AT B B i BB o
& SE
The distance travelled was HBAz kK
(16 +19) X2+27 (16 +19) X2+27
= 9.7 (km) =97 (km)

}1om

>
10 m
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35 (b).

35 (c).

36 (a).

36 (b).

36 (c).

Teacher’s use only

A
56: "?;‘gs BHGER
The perimeter of the whole farmland is
(Give your answer with a unit)
Fhg B ah B R 2 240 m 0
(B%E/A8 ELFE45)

2

The area of Mr Tsang’s farmland is B A B m AR
10 X 10 X 20 X — 10 X 10 X 20 X —

= 1500 (m’) = 1500 (m’)

4
The difference is

P 12 & o

2

The total area is (Give your answer with a unit)
B AR 4 A T 216 cm’ o (BEAFLEL)

2

The volume of the cuboid is RO
6 X6 X12 6 X6 X12

=432 (cm’) = 432 (cm’)

4

End
=
5t

NER - BEEE (D)
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